Filomat 36:13 (2022), 4591–4598 https://doi.org/10.2298/FIL2213591N



Published by Faculty of Sciences and Mathematics, University of Niš, Serbia Available at: http://www.pmf.ni.ac.rs/filomat

SEP Matrices and Solution of Matrix Equations

Wenqing Nie^a, Junchao Wei^a

^aSchool of Mathematics, Yangzhou University, Yangzhou, 225002, P. R. China

Abstract. This paper mainly introduces some properties of several generalized inverses of matrices, especially some equivalent characteristics of generalized inverses of matrices, specifically by constructing some specific matrix equations and discussing whether these matrix equations have solutions in a given set to determine whether a group invertible matrix is some generalized inverse of matrices.

1. Introduction

Throughout this paper, $C^{n \times n}$ stands for the set of all $n \times n$ complex matrices. A^H denotes the conjugate transpose matrix of $A \in C^{n \times n}$. Recall that a matrix $A \in C^{n \times n}$ is said to be group invertible [4] if there exists $X \in C^{n \times n}$ such that

$$AXA = A, XAX = X, AX = XA$$

hold. If such matrix X exists, then it is unique, denoted by $A^{\#}$, and called the group inverse of A. It is well known that the group inverse of $A \in C^{n \times n}$ exists if and only if $rank(A^2) = rank(A)$ [1].

A matrix $A \in C^{n \times n}$ is said to be Moore-Penrose invertible [5–7, 11] if there exists $X \in C^{n \times n}$ such that

$$AXA = A, XAX = X, (AX)^H = AX, (XA)^H = XA$$

hold. According to [11], such matrix X always exists uniquely, denoted by A^+ , and called the Moore-Penrose inverse of A.

A matrix $A \in C^{n \times n}$ is called *EP* [12] if $A^{\#}$ exists and $A^{\#} = A^{+}$; *A* is called partial isometry (or *PI*) [3] if $A^{+} = A^{H}$; *A* is said to be normal [2] if $AA^{H} = A^{H}A$; *A* is said to be *SEP* if *A* is *EP* and *PI*.

In [10], it has studied the generalized inverse of an operator with the aid of specific operator equation. In [15], it has studied the connection between the normal element and the existence of solutions to some equation on rings in a given set.

In [13], it has discussed the necessary and sufficient conditions for the EP element and the existence of solutions to equations on rings in a given set.

Inspired by these, the purpose of this paper is that we collect some new characteristics of *EP* matrices, normal matrices and partial isometry matrices through various matrices equations admitting solutions in a definite set $\rho_A = \{A, A^{\#}, A^+, A^H, (A^{\#})^H, (A^+)^H\}, (A^+)^{\#}, (A^{\#})^+\}.$

2020 Mathematics Subject Classification. Primary 16A30 ; Secondary 16A50, 16E50, 16D30

Keywords. SEP matrix; partial isometry; EP matrix; group invertible matrix

Received: 08 July 2021; Revised: 24 June 2022; Accepted: 30 June 2022

Communicated by Dijana Mosić

Project supported by the Foundation of Natural Science of China (10771282)

Email addresses: 1951999758@qq.com (Wenqing Nie), jcweiyz@126.com (Junchao Wei)

2. Several lemmas

We begin with the following lemma.

Lemma 2.1. Let $A \in C^{n \times n}$ be a group invertible matrix. Then A is a SEP matrix if and only if $A^+ = (A^{\#})^H A^+ A^{\#}$. **Proof** " \Rightarrow " Assume that A is SEP. Then $A^{\#} = A^+ = A^H$, which implies $(A^{\#})^H A^+ A^{\#} = AA^+ A^{\#} = A^{\#} = A^+$. " \leftarrow " If $A^+ = (A^{\#})^H A^+ A^{\#}$, then $A^H A^+ = A^H (A^{\#})^H A^+ A^{\#}$. Noting that $A^H (A^{\#})^H A^+ = (AA^{\#})^H (A^+ AA^+) = (A^+ A^2 A^{\#})^H A^+ = (A^+ A)^H A^+ = A^+$. Then $A^H A^+ = A^+ A^{\#}$. Thus A is SEP by [14, Theorem 1.5.3].

Observing carefully the proof of Lemma 2.1, we have the following corollary.

Corollary 2.2. Let $A \in C^{n \times n}$ be a group invertible matrix. Then (1) $A^{H}(A^{\#})^{H}A^{+} = A^{+} = A^{+}A^{H}(A^{\#})^{H}$; (2) *A* is a SEP matrix if and only if $A^{\#} = (A^{\#})^{H}A^{+}A^{\#}$.

Now we give following lemma which proof is routine.

Lemma 2.3. Let $A \in C^{n \times n}$ be a group invertible matrix. Then

(1) $(A^+)^{\#} = (AA^{\#})^H A (AA^{\#})^H;$

(2) $(A^{\#})^{+} = A^{+}A^{3}A^{+};$

(3) $(A^{\#})^{H}A^{+}A^{\#}$ is an EP matrix and $((A^{\#})^{H}A^{+}A^{\#})^{+} = A^{+}A^{3}A^{H}A^{+}A = (A^{\#})^{+}AA^{H}A^{+}A$.

Corollary 2.4. Let $A \in C^{n \times n}$ be a group invertible matrix. Then A is a SEP matrix if and only if $(A^{\#})^{H}A^{+} = A^{+}A$.

Proof By Corollary 2.2, *A* is a *SEP* matrix if and only if $A^{\#} = (A^{\#})^{H}A^{+}A^{\#}$. By Lemma 2.3, we obtain *A* is a *SEP* matrix if and only if

$$A^{+}A^{3}A^{+} = A^{+}A^{3}A^{H}A^{+}A.$$

Multiplying the equality one left by $(A^{\#})^{H}A^{+}A^{\#}$ and again by Corollary 2.2, one has *A* is a *SEP* matrix if and only if $(A^{\#})^{H}A^{+} = A^{+}A$.

Lemma 2.1 and Lemma 2.3(3) imply the following corollary.

Corollary 2.5. Let $A \in C^{n \times n}$ be a group invertible matrix. Then A is a SEP matrix if and only if $A = A^+A^3A^HA^+A = (A^{\#})^+AA^HA^+A$.

Also Lemma 2.1, Lemma 2.3(1) and (3) imply the following corollary.

Corollary 2.6. Let $A \in C^{n \times n}$ be a group invertible matrix. Then A is a SEP matrix if and only if $(AA^{\#})^{H}A(AA^{\#})^{H} = A^{+}A^{3}A^{H}A^{+}A$.

3. Consistency of relative equations

According to Lemma 2.1, we can construct the following equation.

 $(A^{\#})^{H}XA^{\#} = A^{+}.$ (3.1)

Theorem 3.1. Let $A \in C^{n \times n}$ be a group invertible matrix. Then A is a SEP matrix if and only if Eq.(3.1) is consistent in $C^{n \times n}$, and the general solution of Eq.(3.1) is given by

$$X = A^+ + U - AA^+ UAA^+, \text{ where } U \in C^{n \times n}.$$
(3.2)

Proof " \Rightarrow " Assume that *A* is SEP. Then $A^+ = (A^{\#})^H A^+ A^{\#}$ by Lemma 2.1, this gives

$$(A^{\#})^{H}(A^{+} + U - AA^{+}UAA^{+})A^{\#} = A^{+}.$$
(3.3)

Hence the formula (3.2) is the solution of Eq.(3.1). Now, let $X = X_0$ be any solution of Eq.(3.1). Then $(A^{\#})^H X_0 A^{\#} = A^+$, which implies

$$AA^{+}X_{0}AA^{+} = (AA^{+})A^{H}((A^{\#})^{H}X_{0}A^{\#})A^{2}A^{+} = AA^{+}A^{H}A^{+}A^{2}A^{+}.$$

Choose $U = X_0$. Then $X_0 = A^+ + U - AA^+UAA^+$. This shows that the Formula (3.2) is the general solution of Eq.(3.1).

" \Leftarrow " If the general solution of Eq.(3.1) is given by (3.2), then

$$(A^{\#})^{H}(A^{+} + U - AA^{+}UAA^{+})A^{\#} = A^{+},$$

e.g. $(A^{\#})^{H}A^{+}A^{\#} = A^{+}.$

Hence *A* is *SEP* by Lemma 2.1.

Remark 3.2. Let $A \in C^{n \times n}$ be a group invertible matrix. Then A is an EP matrix if and only if Eq.(3.1) is consistent in $C^{n \times n}$.

In this case, the general solution of Eq.(3.1) is given by

$$X = A^{H} + U - AA^{+}UAA^{+}, \text{ where } U \in C^{n \times n}.$$
(3.4)

Proof " \Rightarrow " If A is EP, then $(A^{\#})^{H}A^{H}A^{\#} = (A^{\#})^{H}A^{H}A^{+} = A^{+}$ by Corollary 2.2. Hence Eq.(3.1) is consistent. " \leftarrow " Assume that Eq.(3.1) is consistent, then $A^+ = (A^{\#})^H X_0 A^{\#}$ for some $X_0 \in C^{n \times n}$, this gives $A^+ = A^+ A^+ A$. Hence *A* is *EP*.

The rest can be similarly proved as Theorem 3.1.

Now we construct the following equation.

$$A^{+}XAA^{+}(A^{\#})^{H} = A^{+}.$$
(3.5)

Theorem 3.3. Let $A \in C^{n \times n}$ be a group invertible matrix. Then the general solution of Eq.(3.4) is given by (3.3). **Proof** It is routine.

Remark 3.2 and Theorm 3.3 imply the following corollary.

Corollary 3.4. Let $A \in C^{n \times n}$ be a group invertible matrix. Then A is an EP matrix if and only if Eq.(3.1) and Eq.(3.4) have the same solution.

Now we consider the following equation.

$$(AA^{\#})^{H}XAA^{+} = A^{+}.$$
(3.6)

Theorem 3.5. Let $A \in C^{n \times n}$ be a group invertible matrix. Then the general solution of Eq.(3.5) is given by (3.2).

Proof Similar to the proof of Theorem 3.1, we can easy prove it.

Clearly, Theorem 3.3 and Thorem 3.5 lead to the following corollary.

Corollary 3.6. Let $A \in C^{n \times n}$ be a group invertible matrix. Then A is is an SEP matrix if and only if Eq.(3.1) and *Eq.*(3.5) *have the same solution.*

4593

4. The solution of a matrix equation in a given set

According to Lemma 2.1, we can construct the following equation.

$$X = (A^{\sharp})^H X A^{\sharp}. \tag{4.1}$$

The following theorem follows from [16, Theorem 2.8].

Theorem 4.1. Let $A \in C^{n \times n}$ be a group invertible matrix. Then A is a SEP matrix if and only if Eq.(4.1) has at least one solution in $\rho_A = \{A, A^{\#}, A^+, A^H, (A^{\#})^H, (A^+)^H, (A^+)^{\#}, (A^{\#})^+\}.$

It is well known that *A* is *SEP* if and only if $A^{\#}$ is *SEP*. Hence use $A^{\#}$ to replace *A* in Eq.(4.1), we have the following equation.

$$X = A^H X A. ag{4.2}$$

Theorem 4.1 implies the following corollary.

Corollary 4.2. Let $A \in C^{n \times n}$ be a group invertible matrix. Then A is a SEP matrix if and only if Eq.(4.2) has at least one solution in ρ_A .

Noting that if *A* is *SEP*, then $A^+ = A^{\#}$. Hence we can change Eq.(4.2) as follows.

$$X + A^{+} = A^{H}XA + A^{\#}.$$
(4.3)

Theorem 4.3. Let $A \in C^{n \times n}$ be a group invertible matrix. Then A is a SEP matrix if and only if Eq.(4.3) has at least one solution in ρ_A .

Proof " \Rightarrow " If *A* is a *SEP* matrix, then *X* = *A*⁺ is a solution because *A*⁺ = *A*[#] = *A*^H.

" \leftarrow " 1) If X = A, then $A + A^+ = A^H A A + A^{\#}$, Post-multiplying the equality by A^+A , one yields $A^+ = A^+A^+A$. Hence A is EP, which implies $A^+ = A^{\#}$, this gives $A = A^H A A$, it follows that X = A is a solution of Eq.(4.2). Hence A is SEP by Corollary 4.2;

2) If $X = A^{\#}$, then $A^{\#} + A^{+} = A^{H}A^{\#}A + A^{\#}$. Post-multiplying the equality by $A^{+}A$, one yields $A^{+} = A^{+}A^{+}A$. Hence *A* is *EP*, which implies $A^{\#} = A^{H}A^{\#}A$, Thus $X = A^{\#}$ is a solution of Eq.(4.2). Hence *A* is *SEP* by Corollary 4.2;

3) If $X = A^+$, then $A^+ + A^+ = A^H A^+ A + A^{\#}$. Pre-multiplying the equality by A^+A , one gets $A^{\#} = A^+AA^{\#}$. Hence *A* is *EP*, it follows that $A^+ = A^HA^+A$. Thus *A* is *SEP* by Corollary 4.2;

4) If $X = A^H$, then $A^H + A^+ = A^H A^H A + A^{\#}$. Similar to the proof of 3), we can show that A is SEP;

5) If $X = (A^+)^H$, then $(A^+)^H + A^+ = A^H (A^+)^H A + A^{\#}$. Post-multiplying the equality by A^+A , one obtains $A^+ = A^+A^+A$. Hence *A* is *EP*, which implies $(A^+)^H = A^H (A^+)^H A$. Thus $X = (A^+)^H$ is a solution of Eq.(4.2). By Corollary 4.2, we have *A* is *SEP*;

6) If $X = (A^{\#})^{H}$, then $(A^{\#})^{H} + A^{+} = A^{H}(A^{\#})^{H}A + A^{\#}$. Pre-multiplying the equality by $A^{+}A$, one yields $A^{\#} = A^{+}AA^{\#}$. Hence *A* is *EP*, one obtains $(A^{\#})^{H} = A^{H}(A^{\#})^{H}A$. By Corollary 4.2, we have *A* is *SEP* because $X = (A^{\#})^{H}$ is a solution Eq.(4.2);

7) If $X = (A^+)^{\#}$, then $(A^+)^{\#} + A^+ = A^H (A^+)^{\#} A + A^{\#}$. Pre-multiplying the equality by A^+A , one has $A^{\#} = A^+AA^{\#}$. Hence *A* is *EP*, this leads to $X = (A^+)^{\#} = A$ is a solution. Hence *A* is *SEP* by 1);

8) If $X = (A^{\#})^+$, then $(A^{\#})^+ + A^+ = A^H (A^{\#})^+ A + A^{\#}$. Pre-multiplying the equality by $A^+ A$ and using Lemma 2.3, we have $A^{\#} = A^+ A A^{\#}$. Hence A is EP. Now $X = (A^{\#})^+ = A$ is a solution. Thus A is SEP by 1).

5. The general solution of equations

Now we generalize Eq.(4.1) as follows

$$X = (A^{\#})^H Y A^{\#}.$$

(5.1)

Theorem 5.1. Let $A \in C^{n \times n}$ be a group invertible matrix. Then the general solution of Eq.(5.1) is given by

$$\begin{cases} X = (A^{\#})^{H} P A^{\#} \\ Y = P + V - A A^{+} V A A^{+}, \quad where \ P, V \in C^{n \times n}. \end{cases}$$

$$(5.2)$$

Proof First, we have

 $(A^{\#})^{H}(P + V - AA^{+}VAA^{+})A^{\#} = (A^{\#})^{H}PA^{\#}.$ Hence Formula (5.2) is the solution of Eq.(5.1). Next, let $\begin{cases} X = X_0 \\ Y = Y_0 \end{cases}$ be a solution of Eq.(5.1). Then $X_0 = (A^{\#})^H Y_0 A^{\#}$. Choose $P = AA^+A^HX_0A^2A^+$, $V = Y_0$. Then $(A^{\#})^{H}PA^{\#} = (A^{\#})^{H}AA^{+}A^{H}X_{0}A^{2}A^{+}A^{\#} = (A^{\#})^{H}A^{H}X_{0}AA^{\#}$ $= (A^{\#})^{H}A^{H}(A^{\#})^{H}Y_{0}A^{\#}AA^{\#} = (A^{\#})^{H}Y_{0}A^{\#} = X_{0}.$ And $Y_0 = AA^+Y_0AA^+ + Y_0 - AA^+Y_0AA^+$ = $AA^+A^H(A^\#)^HY_0A^\#A^2A^+ + Y_0 - AA^+Y_0AA^+$ $= AA^{+}A^{H}X_{0}A^{2}A^{+} + Y_{0} - AA^{+}Y_{0}AA^{+} = P + V - AA^{+}VAA^{+}$ $\int X_0 = (A^{\#})^H P A^{\#}$ Hence $Y_0 = P + V - AA^+ VAA^+,$

it follows that the general solution of Eq.(5.1) is given by Formula (5.2).

Theorem 5.2. Let $A \in C^{n \times n}$ be a group invertible matrix. Then A is SEP if and only if the general solution of Eq.(5.1) is given by

$$\begin{cases} X = (A^{\#})^{H} P A^{H} \\ Y = P + V - A A^{+} V A A^{+}, \end{cases} \quad where \quad P, V \in C^{n \times n}.$$

$$(5.3)$$

Proof " \Rightarrow " If *A* is *SEP*, then $A^{\#} = A^{H}$, which implies Formula (5.3) is same as Formula (5.2). By Theorem 5.1, the general solution of Eq.(5.1) is given by Formula (5.3).

 $(A^{\#})^{H}PA^{H} =$ " \Leftarrow " If the general solution of Eq.(5.1) is given by Formula (5.3), then $(A^{\#})^{H}(P + V - AA^{+}VAA^{+})A^{\#},$

that is, $(A^{\#})^{H}PA^{H} = (A^{\#})^{H}PA^{\#}$ for all $P \in C^{n \times n}$. Especially, choose $P = A^{H}$. Then we have $A^{H} = (AA^{\#})^{H}A^{\#}$, this gives $A = (A^{\#})^{H}AA^{\#}$. By Theorem 4.1, we obtain that A is SEP.

It is not clear which equation has the general solution given by Formula (5.3), so, we construct the following equation.

$$X = (A^{\#})^{H} Y A A^{+} A^{H}.$$
(5.4)

Theorem 5.3. Let $A \in C^{n \times n}$ be a group invertible matrix. Then the general solution of Formula (5.4) is given by

$$\begin{cases} X = (A^{\#})^{H} P A^{H} \\ Y = P + V - A A^{+} V A A^{+}, \end{cases} \text{ where } P, V \in C^{n \times n} \text{ and } P A^{+} = P A A^{+} A^{+}. \end{cases}$$
(5.5)

Proof First, Formula (5.5) is the solution to Eq.(5.4). In fact, $(A^{\#})^{H}(P + V - AA^{+}VAA^{+})AA^{+}A^{H} = (A^{\#})^{H}PAA^{+}A^{H}$ $= (A^{\#})^{H}PAA^{+}A^{+}AA^{H} = (A^{\#})^{H}PA^{+}AA^{H} = (A^{\#})^{H}PA^{H}.$ Next, let $\begin{cases} X = X_0 \\ Y = Y_0 \end{cases}$ be the any solution of Eq.(5.4). Then $X_0 = (A^{\#})^H Y_0 A A^+ A^H.$ Choose $P = AA^{+}A^{H}X_{0}(A^{\#})^{H}, V = Y_{0}$.

Then $PAA^{+}A^{+} = AA^{+}A^{H}X_{0}(A^{\#})^{H}AA^{+}A^{+} = AA^{+}A^{H}X_{0}(A^{\#})^{H}A^{+} = PA^{+};$ $(A^{\#})^{H}PA^{H} = (A^{\#})^{H}AA^{+}A^{H}X_{0}(A^{\#})^{H}A^{H} = (A^{\#})^{H}A^{H}X_{0}(A^{\#})^{H}A^{H}$ $= (A^{\#})^{H} A^{H} ((A^{\#})^{H} Y_{0} A A^{+} A^{H}) (A^{\#})^{H} A^{H}$

 $= (A^{\#})^{H}Y_{0}AA^{+}A^{H} = X_{0};$ $Y_{0} = AA^{+}VAA^{+} + Y_{0} - AA^{+}VAA^{+}$ $= AA^{+}Y_{0}AA^{+} + Y_{0} - AA^{+}VAA^{+}$ $= AA^{+}A^{H}(A^{\#})^{H}Y_{0}AA^{+}A^{H}(A^{\#})^{H} + Y_{0} - AA^{+}VAA^{+}$ $= AA^{+}A^{H}X_{0}(A^{\#})^{H} + Y_{0} - AA^{+}VAA^{+}$ $= P + Y_{0} - AA^{+}VAA^{+}.$

Hence the general solution of Eq.(5.4) is given by Formula (5.5).

Theorem 5.4. Let $A \in C^{n \times n}$ be a group invertible matrix. Then A is a SEP matrix if and only if Eq.(5.1) and Eq.(5.4) *have the same solution.*

Proof " \Rightarrow " If *A* is *SEP*, then *A* is *EP* and by Theorem 5.2, the general solution of Eq.(5.1) is given by Formula (5.3). Since *A* is *EP*, we have $PA^+ = PAA^+A^+$ for each $P \in C^{n \times n}$. So by Theorem 5.3, the general solution of Eq.(5.4) is given by Formula (5.3), this implies Eq.(5.1) and Eq.(5.4) have the same solution. " \leftarrow " If Eq.(5.1) and Eq.(5.4) have the same solution, then, by Theorem 5.1, the general solution of Eq.(5.4) is given by Formula (5.2). Thus we have

$$(A^{\#})^{H}PA^{\#} = (A^{\#})^{H}(P + V - AA^{+}VAA^{+})AA^{+}A^{H}$$

i.e. $(A^{\#})^{H}PA^{\#} = (A^{\#})^{H}PAA^{+}A^{H}$ for all $P \in C^{n \times n}$, especially, take $P = A^{\#}A$, then $(A^{\#})^{H}A^{\#} = (AA^{\#})^{H}$. It follows that $AA^{\#} = (A^{\#})^{H}A^{\#} = (AA^{\#})^{H}$, so A is EP. And then by Theorem 5.3, the general solution of Eq.(5.4) is given by (5.5), so by (5.3). This leads to the general solution of Eq.(5.1) is given by (5.3). By Theorem 5.2, A is SEP.

6. The solutions of bivariate equations in a given set

Nothing that $A^+ = A^+A^H(A^{\#})^H$. Hence, by Lemma 2.1, we have *A* is *SEP* if and only if $A^+A^H(A^{\#})^H = (A^{\#})^H A^+A^{\#}$. So we can construct the following equation.

$$XA^HY = YXA^{\#}.$$
(6.1)

Theorem 6.1. Let $A \in C^{n \times n}$ be a group invertible matrix. Then A is a PI matrix if and only if Eq.(6.1) has at least one solution in $\tau_A^2 = \{(X, Y)|X, Y \in \tau_A\}$, where $\tau_A = \{A, A^{\#}, A^+, (A^+)^H, (A^{\#})^H\}$.

Proof " \Rightarrow " Assume that *A* is *PI*, Then $A^H = A^+$, this infers (*X*, *Y*) = (*A*, *A*[#]) is a solution. " \Leftarrow " I) If *Y* = *A*, then we have the following equation.

$$XA^{H}A = AXA^{\#}.$$
(6.2)

1) If X = A, then $AA^{H}A = A^{2}A^{\#} = A$. Hence *A* is *PI*; 2) If $X = A^{\#}$, then $A^{\#}A^{H}A = AA^{\#}A^{\#} = A^{\#}$, this gives $A = A^{2}A^{\#} = A^{2}A^{\#}A^{H}A = AA^{H}A$. Hence *A* is *PI*; 3) If $X = A^{+}$, then $A^{+}A^{H}A = AA^{+}A^{\#} = A^{\#}$, which implies $A^{\#} = A^{+}A^{H}A = A^{+}A(A^{+}A^{H}A) = A^{+}AA^{\#}$. Hence *A* is *EP*, it follows that $X = A^{+} = A^{\#}$. Thus *A* is *PI* by 2); 4) If $X = (A^{+})^{H}$, then $(A^{+})^{H}A^{H}A = A(A^{+})^{H}A^{\#}$. e.g. $A = A(A^{+})^{H}A^{\#}$, it follows from Corollary 2.2 that $A^{\#}A = (A^{+})^{H}A^{\#}$. Hence $A = (A^{+})^{H}A^{\#}A = A(A^{+})^{H}A^{\#}$, one gets $(E_{n} - AA^{+})(A^{\#})^{H}A^{H}A = 0$,

this gives $(E_n - AA^+)A^H = (E_n - AA^+)(A^{\#})^H A^H AA^+ A^H = 0$. Hence *A* is *EP*, which infers $X = (A^{\#})^H = (A^+)^H$. Thus is *A* is *PI* by 5);

II) If $Y = A^{\#}$, then we have the following equation.

$$XA^{H}A^{\#} = A^{\#}XA^{\#}.$$
 (6.3)

4596

6) If X = A, then $AA^{H}A^{\#} = A^{\#}AA^{\#} = A^{\#}$. Hence *A* is *PI* by 2); 7) If $X = A^{\#}$, then $A^{\#}A^{H}A^{\#} = A^{\#}A^{\#}A^{\#}$, this give $A = A^{2}(A^{\#}A^{\#}A^{\#})A^{2} = A^{2}(A^{\#}A^{H}A^{\#})A^{2} = AA^{H}A$. Hence *A* is *PI*; 8) If $X = A^{+}$, then $A^{+}A^{H}A^{\#} = A^{\#}A^{+}A^{\#} = (A^{\#})^{3}$. This gives $(E_{n} - A^{+}A)(A^{\#})^{3} = 0$, and $(E_{n} - A^{+}A)A = (E_{n} - A^{+}A)(A^{\#})^{3}A^{4} = 0$. Hence *A* is *EP* and so $X = A^{+} = A^{\#}$. Thus *A* is *PI* by 7); 9) If $X = (A^{+})^{H}$, then $(A^{+})^{H}A^{H}A^{\#} = A^{\#}(A^{+})^{H}A^{\#}$, e.g. $A^{\#} = A^{\#}(A^{+})^{H}A^{\#}$. Hence $A = AA^{\#}A = AA^{\#}(A^{+})^{H}A^{\#}A = (A^{+})^{H}$, it follows that *A* is *PI*; 10) If $X = (A^{\#})^{H}$, then $(A^{\#})^{H}A^{H}A^{\#} = A^{\#}(A^{\#})^{H}A^{H}A^{\#} = 0$, and $(E_{n} - A^{+}A)A^{\#}(A^{\#})^{H}A^{\#}(A^{\#})^{H}A^{\#}A^{2}A^{+} = 0$. Hence $(E_{n} - A^{+}A)A^{\#} = (E_{n} - A^{+}A)A^{\#}(A^{\#})^{H}A^{H}A^{+}A = 0$, which implies *A* is *EP*. Thus $X = (A^{\#})^{H} = (A^{+})^{H}$, by

Hence $(E_n - A^*A)A^* = (E_n - A^*A)A^*(A^*)^{I'}A^{I'}A^*A = 0$, which implies A is EP. Thus $X = (A^*)^{I'} = (A^*)^{I'}$, by 9), we have A is PI;

III) If $Y = A^+$, then we have the following equation.

$$XA^{H}A^{+} = A^{+}XA^{\#}.$$
 (6.4)

11) If X = A, then $AA^{H}A^{+} = A^{+}AA^{\#}$, one has $AA^{H}A^{+}(E_{n} - A^{+}A) = A^{+}AA^{\#}(E_{n} - A^{+}A) = 0$. Pre-multiplying the last equality by $(A^{\#})^{H}A^{+}$, one has $A^{+} = A^{+}A^{+}A$. Hence *A* is *EP*, which implies $Y = A^{+} = A^{\#}$. Thus *A* is *PI* by II);

12) If $X = A^{\#}$, then $A^{\#}A^{H}A^{+} = A^{+}A^{\#}A^{\#}$, it gives $A^{+}A^{\#}A^{\#}(E_{n} - AA^{+}) = 0$, and $AA^{\#}(E_{n} - AA^{+}) = A^{3}A^{+}A^{\#}A^{\#}(E_{n} - AA^{+}) = 0$. Hence *A* is *EP*, which infers $Y = A^{\#}$. Thus *A* is *PI* by II);

13) If $X = A^+$, then $A^+A^HA^+ = A^+A^+A^\#$, so $A^+A^HA^+(E_n - A^+A) = 0$, and $A^HA^+(E_n - A^+A) = (A^\#A)^HAA^+A^HA^+(E_n - A^+A) = 0$. Hence $A^+(E_n - A^+A) = (A^\#)^HA^HA^+(E_n - A^+A) = 0$, it gives A is EP. Thus $Y = A^+ = A^\#$ and A is PI by II);

14) If $X = (A^+)^H$, then $(A^+)^H A^H A^+ = A^+(A^+)^H A^\#$, e.g. $AA^+A^+ = A^+(A^+)^H A^\#$, this gives $(E_n - AA^+)A^+(A^+)^H A^\# = 0$, and by Corollary 2.2 $(E_n - AA^+)A^+(A^+)^H = (E_n - AA^+)A^+(A^+)^H A^\# A = 0$.

Hence $(E_n - AA^+)A^+ = (E_n - AA^+)A^+(A^+)^H A^H = 0$, which implies *A* is *EP* and so *Y* = *A*⁺ = *A*[#]. Thus *A* is *PI* by II);

15) If $X = (A^{\#})^{H}$, then $(A^{\#})^{H}A^{H}A^{+} = A^{+}(A^{\#})^{H}A^{\#}$, e.g. $A^{+} = A^{+}(A^{\#})^{H}A^{\#}$. Hence *A* is *EP* and so $X = (A^{\#})^{H} = (A^{+})^{H}$. By 14), we have *A* is *PI*;

IV) If $Y = (A^+)^H$, then we have the following equation

$$XA^{H}(A^{+})^{H} = (A^{+})^{H}XA^{\#}$$

that is,

$$XA^+A = (A^+)^H XA^\#.$$

 $(E_n - AA^+)(A^{\#})^H A^+ AA^H A^+ = 0$. Hence A is EP and so $X = (A^{\#})^H = (A^+)^H$. Thus A is PI by 19);

V) If $Y = (A^{\#})^{H}$, then we have the following equation.

$$XA^{H}(A^{\#})^{H} = (A^{\#})^{H}XA^{\#}.$$

(6.6)

(6.5)

21) If X = A, then $AA^{H}(A^{\#})^{H} = (A^{\#})^{H}AA^{\#}$, this gives

$$(E_n - AA^+)(A^{\#})^H AA^{\#} = 0.$$

It follows that

$$E_n - AA^+)(A^{\#})^H = (E_n - AA^+)(A^{\#})^H AA^{\#}A^2A^+ = 0$$

Hence *A* is *EP*, which implies $Y = (A^{\#})^{H} = (A^{+})^{H}$. By IV), we have *A* is *PI*; 22) If $X = A^{\#}$, then $A^{\#}A^{H}(A^{\#})^{H} = (A^{\#})^{H}A^{\#}A^{\#}$, it gives

$$A^{\#}A^{H}(A^{\#})^{H}(E_{n} - A^{+}A) = 0.$$

Pre-multiplying the last equality by $A^+A^+A^2$, one has $A^+(E_n - A^+A) = 0$. Hence A is EP and so $Y = (A^{\#})^H = 0$ $(A^+)^H$. By IV), A is PI; 23) If $X = A^+$, then $A^+A^H(A^{\#})^H = (A^{\#})^H A^+A^{\#}$, e.g. $A^+ = (A^{\#})^H A^+A^{\#}$, one yields

$$A^{+} = (A^{\#})^{H}A^{+}A^{\#}A^{+}A = A^{+}A^{+}A.$$

Hence *A* is *EP*, this infers $Y = (A^+)^H$. Thus *A* is *PI* by IV); 24) If $X = (A^+)^H$, then $(A^+)^H A^H (A^{\#})^H = (A^{\#})^H (A^+)^H A^{\#}$. Applying the involution to the equality, one has $A^{\#}AA^{+} = (A^{\#})^{H}A^{+}A^{\#}$, this gives

$$A^{\#}AA^{+}(E_{n} - A^{+}A) = 0$$

and

$$A^{+}(E_{n} - A^{+}A) = A^{+}AA^{\#}AA^{+}(E_{n} - A^{+}A) = 0$$

Hence *A* is *EP* and so $Y = (A^+)^H$. Thus *A* is *PI* by IV); 25) If $X = (A^{\#})^{H}$, then $(A^{\#})^{H} = (A^{\#})^{H}A^{H}(A^{\#})^{H} = (A^{\#})^{H}(A^{\#})^{H}A^{\#}$, it follows that $A^{+} = A^{+}A^{H}(A^{\#})^{H} = A^{+}A^{H}(A^{\#})^{H}(A^{\#})^{H}A^{\#} = A^{+}(A^{\#})^{H}A^{\#},$

so $A^+(E_n - A^+A) = A^+(A^{\#})^H A^{\#}(E_n - A^+A) = 0$, Hence *A* is *EP*, it follows that $A^+A = A^+(A^{\#})^H A^{\#}A = A^+(A^+)^H A^{\#}A = A^+(A^+)^H$. Thus *A* is *PI*.

References

- [1] A. Ben-Israel, T. N. E. Greville. Generalized Inverses: Theory and Applications, 2nd Edition. Springer-Verlag, New York, 2003.
- [2] Herman H. Goldstine, L. P. Horwitz. A procedure for the diagonalization of normal matrices. J. ACM. 1959, 6: 176-195.
- [3] Hwa-Long Gau, P. Y. Wu. Power partial isometry index and ascent of a finite matrix. Linear Algebra Appl. 2014, 459: 136144.
- [4] X. J. Liu, L. L. Wu, J. Benitenz. On the group inverse of linear combinations of two group invertible matrices. Electron. J. Linear Algebra, 2011, 22: 490-503.
- [5] D. Mosić, D. S. Djordjević. Further results on partial isometries and EP elements in rings with involution. Math. Comput. Modelling. 2011, 54: 460-465.
- [6] D. Mosić, D. S. Djordjević. Partial isometries and EP elements in rings with involution. Electron. J. Linear Algebra. 2009, 18: 761-772.
- [7] Y. Tian. The Moore Penrose inverses of $m \times n$ block matrices and their applications. Linear Algebra Appl. 1998, 283: 35-60.
- [8] Y. G. Tian, H. X. Wang. Characterizations of EP matrices and weighted-EP matrices. Linear Algebra Appl. 2011, 434: 1295-1318.
 [9] R. J. Zhao, H. Yao, J. C. Wei. EP elements and the solutions of equation in ring with involution, Filomat, 2018, 32(13): 4537-4542.
- [10] C. Y. Deng. On the solutions of operator equation CAX = C = XAC. J. Math. Anal. Appl. 2013, 398(2): 664-670.
- [11] R. Penrose. A generalized inverse for matrices. Proc. Cambridge Philos. Soc. 1955, 51: 406-413.
- [12] Y. Tian, H. Wang. Characterizations of EP matrices and weighted-EP matrices. Linear Algebra Appl. 2011, 434: 1295-1318.
- [13] R. J. Zhao, H. Yao, J. C. Wei. Characterizations of partial isometries and two special kinds of EP elements. Czechos. Math. J. 2020, 70(145): 539-551.
- [14] D. Mosić. Generalized inverses, Faculty of Sciences and Mathematics, University of Niš, 2018.
- [15] Y. C. Qu, J. C. Wei, H. Yao. Characterizations of normal elements in ring with involution, Acta. Math. Hungar, 2018, 156(2): 459-464.
- [16] Y. C. Qu, H. Yao, J. C. Wei. Some characterizations of partial isometry elements in rings with involution, Filomat, 2019, 33(19): 6395-6399.